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f(x) = e

1

4
xsinx − 1 = 0 | [0, π]
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x4 − 9x3 − 2x2 + 120x − 130 = 0

��¡�¨y¥��y�s°j� �y¥j� �_� �y«���§�¡£��©£º�º~�£º~¡�°j� ¡��_��� � ¡£� ¡�± � �@���$���y�j�B� � ¡�¡£§��jº~�y­j�k� ´&� Sturm
± �~» �s¡��_� ¡��~¨y��� ¡h��¡����¡��s¦e¡£ºy� �_��� �b�h«£¨y¡�¥�����¥j� ¬¼´&������¢ � ² � ±b¨y�y­I�_�����e­£� » ¯b� � ¡h��¡h­£¨y�jº~�j¤s� �_� �y«���§�¡£��©£º�º~�£º~¡ � ��¡£§�¥j� ��� � ¡½ °~¶ µ,¶

uwvyx�zs{"|~}kvb���q¾s�"�

� ze�O¿À�O¯b¥����s�8¡£§��£º~�y­j�k� ´&�
Newton-Raphson
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Newton-Raphson
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288x5 − 720x4 + 694x3 − 321x2 + 71x − 6 = 0,
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